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Answers to Odd-Numbered Exercises A59

17. (a) 49.y=x2-x*1
51. (a) Answers will vary.

Example:
53. (a) Answers will vary.

Example:

(b)
d(s) : Q.Ql1"z + 0.389.s + 0.727
The distance between the back of the first vehicle and the
front of the second vehicle is d(s), the safe stopping
distance. The first vehicle passes the given point in 5.5/s
seconds, and the second vehicle takes d(s)/s additionat
seconds. So, T = d(s)/s + 5.5/s.

10

s = 9.365 m/sec

0

s : 9.365 m/sec; 1.719 sec; 33.714 km/h (e) 10.597 m
P(x):t-12

5

(b).v:f,x2-x+2
6rv.t-l--1-l'

55. (at *--+--lt rr--Lzzz zll\\\\-l-////l
'lilt#?771'
llrt--L-..,2,21lrrr--L-zzzl

(b) Y: sinx * 4
7

(d)
19. (a)

(b)

t. [*a,
f. IJ:d,

J xJx
n []*

(b)
(c)

-1

y=x2-6
12

Chapter 4
Section 4.1 (page 255)
1-3. Proofs 5. y:3t3 + C 7. y=!x5/2 + C

Original Integral Rewrite Integrqle

57.f(x):3x2+ 8 59. h(t):2ta +5/-ll
61./(.r):x2 +x+4 63./(;): -4Jx+Zx
65. (a) ft(r) :3otz + 5t + 12 (b) 69 cm

67. When you evaluate the integral I f&) dx, you are finding a
function F(.r) that is an antiderivative of/(x). So, there is no
difference.

71.62.25tt 73. vo - 187.617ft/sec
75. y(t) : -9.8r * Ct: -9.8/ + vo

f(t) : -4.9t2 * vo/ * Cz: -4.9t2 * vo/ * so

77. 7.1 m 79.32Om; -32mf sec
81. (a) v(t) :3t2 - t2t + 9;a(t) = 6, - t,

(b) (0, 1), (3,5) (c) -3
33. a(r) : -r/(2t3/2);x(t) : zJ + 2
85. (a) l.l8 mf secz (b) 190 m
87. (a) 300 ft (b) 60 ftlsec - 4l mi/h

89. (a) AirplaneA: so :ff,' - l50t + l0

Airplane B: s, = O#O - 25ot + tj

[.',, * #. ,
[*-'''* fi*,
LI'-'* +(=). '

Simplify

lron ', g

-4*cJx
-#*,

15.1x2*ix* c 71. x2-x3 + c 19. ;l * x* c
2l.2rx5/z + x2 + x+ C 23. 1x5/3 + C Zi. _ t/(4f) + C
27. 1f/2 + t2xt/2 a 6 :lxr/z(x+ l8) + c
29.x3+)x2- 2x+C
31.lyttz a, 3il. r+C 35. 5sinx-4cosx*C
31. t+cscr*C 39. tan0*cos0*C 41. tany*C
4il. -cscx * C
45. Answers will vary.

Example:
47. Answers will vary

Example:
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A60 Answers to Odd-Numbered Exercises

(b) n o,:'#o - roo' + ?

47. l2(n + r)(n - t)llnz
n: lO S: 1.98
n : 100: S: 1.9998
n : 1000: S: 1.999998
n : 10,000: S: 1.99999998

5r. .rim :('* - :( 
. ')::

55. (a)

65. A: +

(b) A.r : (2 - O)ln : zln
(c) s(n) : ).f(t' ') 

I'
i: I

: itt, - r)(z/n)l(2/n)
i: I

. (d) s(n) : f,fi,) t,t= I

= flte/")l{rtn)i: I

63. A:34

67, A:8

0

Yes,d<3fort>0.0505h
91. True 93. True
95. False. fhas an infinite number of antiderivatives, each differing

99. Proof

15. 84

27. 13 < (Areaof region) < 15

29. 55 < (Areaof region) < 74.5
31. 0.7908 < (Areaof region) < L1835
3il, The areaofthe shaded region falls between 12.5 square units and

16.5 square units.
35, The area of the shaded region falls between 7 square units and

I I square units.
37. ? 39. 9 41. A :S= 0.768 43. A- S - 0.746

A-s:0.518 A:s:0.646

na(f) lim ).t(,- t)(2/n)l(2/n)=2: lim ),litz/nlltz/n):zn+@ =l 
n-@:l

57. A:3 59. A : I

(e)

97.

" i ['(t
['(' . #)']
73. 2930

).']

45. (n + 2)/n
n:lO; S:1.2
n:100:S:1.02
n:1000:S:1.002
n : 10,000: S: 1.0002

4s.,,rrj1lwPl= "
$1. lim l(3n + t)lnl:3

71.A:+

bv a constant.
n 5 t0 50 r00

s(z) 1.6 1.8 1.96 1.98

s(n ) 2.4 2.2 2.04 2.02

n. ? 7s. 0.345


